Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477 4.dwg

STEVES AND SONS

203 Humble Ave.

STEVES

San Antonio, TX 78225

GLAZED FIBERGLASS DOOR
DOUBLE

INSWING/OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building
Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base

material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne deburis protection this product is required to be protected
with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.

buck masonry construction.

. For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x

Site conditions that deviate from the details of this drawing require further engineering analysis by

a licensed engineer or registered architect.

TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET #
1 Typical Elevations, Design Pressures & General Notes 6 Horizontal & Vertical Cross Sections (1X Buck)
2 Door Panel Details 7 Horizontal & Vertical Cross Sections (Direct to Masonry)
3 Panel Options 8 Vertical Cross Sections
4 Elevations 9 Buck & Frame Anchoring & Hardware Details
5 Horizontal & Vertical Cross Sections (2X Buck) 10 Bill of Materials & Components

\\\\\\\“

SRS

S8

D D ; 7 % S5y

/ X X PR
X X ’,,,/) "

0k (o) (o
/ /
FULL LITE w/ N
FAN LITE CAMBER TOP 1/2 LITE FULL LITE MICROBLINDS §
RELIANT CLEAR GLASS COLLECTION E
74" MAX. OVERALL
FRAME WIDTH

81.5" MAX. O.A
FRAME HEIGHT (INSWING) ™ |

80.75" MAX. O.A.
FRAME HEIGHT (OUTSWING) ‘

DN R

XX

74.0" x 81.5"

+20.0

+25.0 +35.0 -35.0

I/,,
M,
RO
N X
A‘.'-.\“ﬁ 3
0;2\:%"’
&= N
.:Z:m.“-mn
EI.'Q:r—o'mE
i S Z 050
3 (0\\ <cd
* Q\\ Hoog
S 27wz
) n .2
W gdap
5 onN - o
5 % o x2 9
3 2 204y
t Eo =My
2o 9 .cuw
e 9y 5028
LTy monow
2 b,
c 0
o C
E 6% §
3 U .
g cu
a 2
(V5]
L
=
x| @
2] Q=
59 =
281 g5
SR, =L
G s
%) | o)
WOIS 43
& ol o,
[ (7]
Do o
L b
| xl = 0n
9 ol & w»n
= =0
8l |57 F
2 a
& x
>_
m
%)
=z
)
2}
"4
=
<t
o
o
p=d
DATE: 4/26/22
SCALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL—-41477.4
SHEET 1 ofF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



LSRN
+

W 7
i — ]'2" >‘ " \\\\ * é,,//
EXTER'OR 2.4 Rt —-— 0.34 \\\\& {_,-"""‘o. : /al” o
AR . ~ o* ‘e ”
= N S . B a. - e K - \Q.’. ‘% - 3
? RO Y N A I I R , COMPOSITE S8y 2 z-.%’: 1
ooy . 4 = [ [ z . & 4 Py g’ 3 [
- - 4 . . hr.A . ) Z 318 " N / CAP : I: g D. J — %
LI‘\)' . . ; " N ;;5 ﬁ’. [N . Z: é§ ‘b 'E‘ . -y » AT ':§ b ' :o:% <t * Egs— i gﬂ
™ o R B 1:= & A - . . . = e
P b IR I PP - 2 - . COMPOSITE % ;‘{’y 2 & o?:g §a @
/1 e =gl ik : — CAP N T % 7Sl 58
HINGE ST“}\ W LATCH STILE i //// Treees ) \\\\ a >_2 z
(LVL) @@ LOCK BLOCK 7y, KPR 2 o5 o
COMPOSITE 19.75" LONG (LVL) (LvL) T W SR.%
CAP 1"\ HORIZONTAL CROSS SECTION ' b T o xS®
\2/ TOP RAIL—"] o PEg Z8.°
. (LVL) 8§59 245K
1.37 1.56" HOT MELT BUTYL gl on 22¢m
: 3/8" ] PO
LQ b - L. .
T | I EXTERIOR CLASSBIE St 52 §
] i ) T - TN —1/2" O.A. GLASS THK. 818 Eu g
« 2 = T - ‘..‘{\ =io 2a
% R = S i 1/8" TEMPERED GLASS -
I AIR SPACE
SRS 1/8" TEMPERED GLASS FIBERGLASS SKIN o
ODL LITE FRAME (HP POLY PRO)  ODL LITE FRAME (EVOLVE] ) 98 9
INTERIOR ALUM SPACER ol =k
ni..
. 3575'MAX.DOOR __ . 3575 MAX. DOOR #8 X 1-5/8" PH SMS | 3215 82
WIDTH 20.75" MAX. D.L.O Wi (1BTOTAL)  (G1)-SLAZLING DETAIL @@ SN
21.125" MAX. D.L.O. ‘ N ODL LITE FRAME {HP POLY PRO} @ § =
WIDTH D WIDTH . B
Ly & <
o}
HOT MELT BUTYL oNng EXTERIOR INTERIOR 2 .
| GLASS BITE _ T g
EXTERIOR 1" O.A. GLASS THK. P
o P o ' 1/8" TEMPERED GLASS ,
AV ~f < : 3
Joo BLIND INSERT
5 o P. . - AR SPACE —
o Xz o < £ 0 N 1/8" TEMPERED GLASS L
N (U] i1, w4, . 7))
o Z i g i ‘ & -2 -4 pd
o= i__ =g X o 1! INTERIOR L o
g 29 05 ALUMINUM SPACER SRR %
% 35 T S 1oy #8 X 1-1/2" PPH SMS w/ DESICCANT e qpe ot §
< f o f #
= (HLO THREAD) GLAZING DETAIL —
. (22TOTAL) G2} 5pL LTE FRAME [EVOLVE) It
-!*7.“ v " :
SEE HARDWARE FOAM CORE—— >
TABLE D
(LATCH & J @ ! =
DEADBOLT) / )
TYP. = = T
(TP BOTTOM RAIL — & % )
LATCH: SIGNATURE SERIES REINFORCEMENT
KWIKSET | DEADBOLT:  SIGNATURE SERIES (980) (Lvy) o :2:1 4/ fzsr/ 522
SCHLAGE Lope‘m;ou- ;i:) \ BOTTOM RAIL — L DWe. Bv:  RW
40 ) FIBERGLASS DOOR PANEL o 20\ FIBERGLASS DOOR PANEL : (COMP.) ok BY: | LFS
ODL LITE FRAME (HP POLY PR ODL LITE FRAME (EVOLVE) LATCH: PREMIUM HANDLESET ~ DRAWING NO.:
ROCKWELL | eADBOLT:  PREMIUM DEADBOLT 2"\ VERTICAL CROSS SECTION FL—41477.4
FIBERGLASS DOOR SKIN: MIN. 0.07" THK. 2/
CORE MATERIAL: POLYURETHANE FOAM SHEET 2 oF 10

Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477 4.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



TONG SANVYLINSNAOY aNIgaing MY 2202 @

e s mond 3dad SNOSIAT
GBSES 714 ‘OdUIDA ‘0T Xogd O'd § SNOILAO T3INVd A8 3ivd [ON N izl M m_
.0—7_::.~m._.z<.53m200 ONIaTING g& TIEN3SSY 40 1avd W T ' b W &
\ 11 N2 8 —
aw 7
2 WNosgs, ‘oN 3 4000 SSV1943dld N 1B W
SN2 LIS, S0 o e SNOS SIS NMEEER |
,.//...Aoioﬁh “ ' EIFI -
S :10NA0Yd AEIHHEE 5
n.ﬂ“ lll
-~ . .
\\\ & -a-.cgzmcj\ooout ,,’
7 Q\s W\
7,/ WHOS 7.\
\\s ///
Hipppany
%)
-]
e =
PO -~ 0
=320
~ o
N w O
=
™y L
- =
o
> =
“x. o
559

1/2 LITE
RELIANT CLEAR GLASS COLLECTION

CAMBER TOP

A

FAN LITE

V4

i

BMp Y 2271 1-13\0202) LLvLy-T4\sBUIMRIQ - D\SIYIS INVITTY LLpLy-Td\s|eaosddy 1onpoid epuojd - Y\iusueulad - SUOS PUB SaARIS\SIUBID\Z



TON] SANVIANSNGD aNIGTINg "M NNDNAU

€186 'ON Ansibey 3dad
L616°699°C1l8 "ON 8suoyd

S6GEE T4 ‘OdHIPA ‘O€ZT Xog ‘O'd Eu
*ONI ‘SINVLINSNOD 9NIaing gw

QO 6 eas % ., 60vEh "ON .m\.n&
*l e, Hyo ‘4 uopu

,’//0/ - EOE .., t\\ pPiydg 4 puAT

~ . “Z.:Ag peindeid sjueWINDOQg

SNOLLYAF T3

SNOISIATH

A8

divd [ON

S
S

RW
LFs

‘ATENASSY d0 Ldvd

[
(=]

40040 SSV19Y3ald
SNOS % S3A3LS

:1.0ngoyd

¥

FL—-41477.4

DATE: 4/26/22
SCALE:  N.T.S.

DWG. BY:
CHK. BY:
DRAWING NO.:

SHEET

c!lllln.
+«

o

3

¥ X

*]

=

X
IHI’\

ELEVATION
XX

BMpy L2 717-14\0202) LLpLp-1a\sBumelq - D\STIYAS INVITFY LLpLy-Td\s|eroiddy 1onpoid epuojd - Y\iusUeULIBd - SUOS pue SaASIS\SIURIID\Z



Z:A\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477.4.dwg

IRARNENIN
+ i

4

&
o

© <R
Ap a

0.15" C-SINK
(TYP)

| -

SALCRERRAARI AR

INTERIOR

LA

LEAAKERERNNNARRNAN &

I/

|

1-1/4" MIN.

EMB. (TYP.)

9

/"1 "\ HORIZONTAL CROSS SECTION

\y Shown w/ 2X Buck
Qutswing shown {Inswing similar)

Note:

1. Screws located 8" from each end of astragal plus
four (3) more located @ 23", 37" & 48" down from
the top of the astragal (5 screws total - countfersink 3/16").

%

(\M
\\\\ *

N ‘,
\\\\& .‘.-" e, &/0//,
SQ O A
X 5 v, - . o a W=
A A e SF NERE
v - & . = . iva : I: (?) <:Z
. v = - o:g ¢ == o
T B L L ,g:m' e
= S e N ~E oD
N x7~ . a\‘". .-'@QE-QmO’
= $ ’/ >.'o \\ = =0 .
Z /, ., o -4 D0 o
(®) B “ S -1
33 O
Ig — (¢ 8 932
o — 8 502w
R ~lE o ¥ 5028
@ ‘ I ¢ Do
<D [P
'\ A \® i
- o oz
[+ T .
GE’ led
.\@ *—ga _§J‘n: @
s Q
5
(30) « &%
\ 28| &8
EXTERIOR | INTERIOR 3o “
s3[5 92
S|z 2R
nols 25
/"2 "\ VERTICAL CROSS SECTION o lh S5
5/ Shown w/ 2X Buck 5E|9 N,
Outswing shown 5 ¥ S0
2 o IR
D 8 Bl O
14 <€
/ . } v M Y < . > -
.v o T : o N : a’ >=
<< ‘4 4 v v -9 m
$ BT e S e
R Y . . - :3 ) o
Z5 @_,/.» B
e 4
o= @)
SEENOTE | g @——» %
— 33 &
dl. m
g @
~
/ 7 ' @ E
'.—
40 é
S
(12) EXTERIOR w o= INTERIOR =
DATE: 4/26/22
/~3°\ VERTICAL CROSS SECTION SAE N.T.S.
/4" HORIZONTAL CROSS SECTION IS UM owe. B RW
w Outswing shown {Inswing similar) cHK. B:  LFS
DRAWING NO.:
FL—41477.4

sHEET _ 5 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



TON] SINVATINSNGD SNIGTIiNg "m'd 2202

(RERNFEIN

SLE on LhelboN 3dad (O1ong X1) SNOLLO3S SSOXHD SNOISIAZH
LBL6'6G9°CL8 FON auoyd i
SBGEC T4 ‘OOMIPA ‘OSZ Xog ‘O'd \Eu TYOULYTA % VINOZIHOH Ag 3Lvd_[ON N h =L M 2
‘NI 'SINVITNSNOD oNIaTing g. TKIGW3SSY 0 Luvd SIEIF5L. s
\ S
WAL 21, ¥00d SS¥19¥38ld NI R P
ORE IS, 80¥SH 'ON ‘I'd S g2
SV . 80, . SNOS # S3AILS LB &g
DD ooy O, WPIWUSS 4 uopuk] ; | |E | B
Icw . ‘ E . ” by m [ Y4 m oy}
~ . 3 %,:4g peiodeid sjuewnoog 1oNaodd 518 W 515 &
E3 . - 7207 ‘9 oung
E 60veY "ON N ~ \
L co . Sy
\\ 00- -.t hl
\\\\\&Q.\.QW.A/.W.)///A:
nRGE 3
TN o
o
2 ® &
z
_ (® z
: ()
. 99 -
; (®)
v 1 [ ¥ ]
| ! ]
< ¥ S
e )
qd mm
; g QIR c
< Py >< 2
. ki O
v >
the o m W.m.v
9 =|Sc
. a3
~ S5
o) &
v il
g &
< (AR}

4 A
i

s
\ , i
o R UIRIRRATIN

<

{'dAL) a3
NIW F/1-1

S I E 1

|

—

—

N =

N =
INTERIOR

A\

FEESIIISET

/ 2"\ VERTICAL CROSS SECTION

W Shown w/ 1X Buck
Outswing shown

5
EXTERIOR

('dAL) "aw3
NIW F/1-1

INTERIOR

//

7
| béb

/"1 \ HORIZONTAL CROSS SECTION

1-1/4" MIN
EMB. (TYP

\6/ Shown w/ 1X Buck
Outswing shown {Inswing similar)

MY
v
v
<
v
Y
<
9
v
<
: . 4
<
| <
Na .
N v

BMpy L7 Lp-14\M0202) LLpLp-T\sBumelq - DASIRIIS INVITIY ZLyLy-1d\sjerciddy 1onpoid epLojd - Y\IUSUBULIS] - SUOS pue SaAa1S\sIualD\Z



TAON| SANVLAINSNGD g9NIaTIing

MY 2zoeg

>

%

é \@%D EXTER,OR

it

|

1-1/4" MIN.
EMB. (TYP.)

it
v
<
v
<
FLEEVEIR AL AV S
b
N v
o
v .
' <
Nag
o v

/"1 \ HORIZONTAL CROSS SECTION

w Shown Direct fo Masonry

Outswing shown (Inswing similar)

£188 N ooy 3dad (AUNOSA OL 10341a) SNOLLOS SNOISIAZY
LELE'E8G9°CLB TON ®|uoyd i
Ses5s 13 ‘eouion ‘05z %o 0'd [ ) of SO0 TWOLUIA ¥ TINOZKOH A8 WO S slzle] X9
‘9Nl 'SINVLINSNOO SNITING @ KTGNISSV 40 1avd o=|EEL S s
WS NG s, o ¥000 SSY1943814 N IIRERSIN
////erw...::.:s%% 7, WSorey oN a'd SNOS % S3A3LS ML
//.N./.....,‘QEON.\. 7, IPIUYDS "4 uopuky mmc.x.me
SAS _ :10NA0¥d eI &
xi *
E L 60vEY ON =
‘\\ Ql.. v.. ,II
\\\\ &w-w-mzma.ﬂ\/o.-ﬂo) ///I.
% \\s\:IOm Wz/////
Hipgp
o
D~
o oz
o @ = =
= ]
. (®) 5
. qle
: v | |2
. . va ] 1 %31
. o]
y &l
9 . ¥z
o ~ < m.m
o =lcZ
. El52
o N >|5E
§ ~ o ™|~
- O
&
. ] ﬂ
< , [AR]
('dAL) "awa AR /@
.z_z :.V\—.l_. . v ,
~N
0 ('dAl) "aw3
be o NIW /11
. 24
A o
O :
n,/Vf///fz{_’Vfﬁ/;/' — N
o))
63 \:\2\\“\\\,\\::: —— h- " m
b | ) . .&m
4 et ree . ” g
e . N 0=
B S ez &log
o N - L3
v 235
. S[E2
‘4 m m.w
. - wios
I 5 353
e
0 @ > o~
- i
o
D_
[+°4
i
z

BMpy L LE-TAM0Z02) LLyLy-Td\sBuimeld - D\STIS INVITIY LLvLy-Td\sienoiddy 1onpoid epiold - y\jusueuiidd - suos pue SBABIS\SIUADNZ



TON| SLNVYLINSNOD aNIging

‘MM 22802 QO

SRR RN NN
v 1

, Q\SIO& 3 R

T186 ‘ON Ansibey 3dad SNOLLDIS SNOISIATY
L6LE'6S9°CL8 "ON euoyd F
G6GES T4 ‘OdUDA ‘'0SZ Xod "O'd \Su SSO0H0 IVOILH3A Ad 31va_TON ﬂ T N m_
‘ONI | 'SINVLTNSNOO oNIaTing gw TKTGNISSY Y0 1NV P e el PR
\ e
WA YNG 4000 SSY1943dl NIRRT
O ieg, oY, N SNOS % S3AILS MMIEEHER
//&/ ..-‘Oﬁow.- \\ { | pPuAT] m m ol W ke m
~ :LONA0¥d HEIEELS &

60vEY "ON

e gzm% ..oo.)

EXTERIOR

INTERIOR

>
.9
a

INTERIOR

(30)
(32

Vikhir

b

| |
%,

b

1L
&l

I

'

1\
'—

THTTT T 1717110 5 0

/" 2"\ VERTICAL CROSS SECTION

W QOutswing Threshold

('dAL) "aW3

.l

14

40

NIW ¥/ 1-1

/"1 "\ VERTICAL CROSS SECTION

w Inswing Threshold

{dAL) "aw3
NIW #/1-1

BMPY LLpLr-14\0202) ZLpLE-T14\sBuMelq - D\SIYIS INVI13Y LLyLb-14\s|er01ddy 10npoid BPLO)S - Y\IUSUBULRY - SUOS puB SBASIS\SIUSIDNZ



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477 4.dwg

wee
FRAME CORNERS ATTACHED w/ (3) 7/1¢" KA

CROWN X 1-1/2' LONG 16 GA. STAPLES & (2) S
" #7 X 1-5/8" DRYWALL SCREWS @ HEAD & SiLL S‘ Q.-"
_ S 2 (TYp) 3" (TYP.) —~— 6 (TYP) =5z @
;:,:’-,a;;_.:-.‘:.,:.-‘;/ [=— 4" (TYP. } 4 (TYP) — i EXL
I T 1 T > TR , I 25
s T 2 Z
F ? 7 LN Uy, ,
== “E of z3 SEE HINGE e
YE - (1)xsuck - = o< DETAL
o 1X BUCK 89 (TYP)
2XBUCK 1L - FRAME [ DIRECT TO e —f — >Q
HEAD & JAMBS MASONRY \ ASTRAGAL/SURFACE
\ (TYP.) HEAD & JAMBS BOLT STRIKE BOLT FH
B _ . (YP) DETAILS ]
" | Oz SEE LATCH
G g = & DEADBOLT
bk - — —| & ® DETAIL
ey % g l
3o ,, DOOR SILT -
e GE |, e - i
h....;.,--:‘ I = gé. l Il:/l l pE™
i‘:": .'1.“"‘".'.‘:'~:":;\ =
/ HINGE JAMB COMPOSITE ASTRAGAL
7" STEEL FLIP LOCK FLUSHBOLT {5/16" @}
MASONRY @ EACH END OF ASTRAGAL
2X BUCK ANCHORING FRAME ANCHORING RECTTO
MASONRY
\ 1X BUCK
DIRECT TO
MASONRY i 2XBUCK
MASONRY W e [lle @
1X BUCK 2X BUCK ASTRAGAL BOLT ]
HOLE @\ --@:>® \
@ 2X BUCK /
; fol = Z HINGE DETAIL
= 7 ! INSWING
i A s ['\I‘:l ° = @‘J?H:::J#_—:ZE\ @-< 1 ’.————«@
lo} — 7d X ——=0 W\ DIRECT TO
s / Xy £ i = == ] W 3\ MASONRY
o ax Buck( J @ @ SILL LATCH & DEADBOLT DETAIL 1XBUCK
@HEAD s 2X BUCK
) ORECTT0 e e
@ HEAD 31 el MASONRY e Hles—=(11)
ASTRAGAL/SURFACE BOLT STRIKE PLATE DETAILS ASTRAGAL/SURFACE BOLT STRIKE PLATE DETAILS \S
INSWING OUTSWING R
HINGE DETAIL
HARDWARE DETAILS OUTSWING

June 6, 2022

P.0. Box 230, Vairico, FL 33585
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

STEVES & SONS
FIBERGLASS DOOR

PART OR ASSEMBLY:
& HARDWARE DETAILS

BUCK & FRAME ANCHORING

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 4,/26/22

scae:  N.T.S.

DWG. BY: RwW

CHK. BY: LFS

DRAWING NO.:
FL—41477.4

SHEET _9 oF 10

© 2022 R.W. BUILDING CONSULTANTS ING.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvais\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020\FL-41477 4.dwg

1.258"

4.5¢6"

0.75"

i%

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
A 1X BUCK (G >=0.42) WOOD
B 2X BUCK (G >=0.42) WwOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" X 2-3/4" PFH DeWALT OR [TW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL
H 3/16" X 3-3/4" PFH ITW CONCRETE SCREW STEEL
J #10 X 3" PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
P 1/4" X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
1 WOOD JAMB WOOD
7 WEATHERSTRIP FOAM
8 SWEEP VINYL
9 4" X 4" HINGE STEEL
11 #9 X 3/4" PFH WOOD SCREW STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
30 8" SURFACE BOLT (HAGER 275D) STEEL
31 SURFACE BOLT GUIDE PLATE STEEL
32 SURFACE BOLT STRIKE PLATE STEEL
33 #10 X 2-1/2" PFH WOOD SCREW STEEL
37 ASTRAGAL STRIKE PLATE STEEL
38 ASTRAGAL (COMPOSITE) COMP
39 #10 X 2" FH SMS STEEL
40 DOOR PANEL -
41 #7 X 1-5/8" DRYWALL SCREW STEEL
42 #8 X 2-1/2" FH SMS STEEL

f— 213" —=

WOOD JAMB
FINGER JOINT PINE

- 5.62"

14 INSWING THRESHOLD

Columbia

TTW BUILDEX

S W
P A 2%
“~ o* *. ” in
" : \Q c'. % ,’ 0]

- ].44 I : s N [+>] .'. : g
=58 ¢ L AZG
=) 3 =%
_3:_51 ¢ X iS=E e,
: 1 <]} : : Dl ad
- e z Q:.'ng-) 00w

AL FOS £ 200
_— < D - PS 5596
L L YN ~ D> a2
H /’l D \\\ .2
3 t1,,, ¥ PN Z do
s Tmpls SR .5
R O O
< 33 252¢
o 5 Em a 11PN
a L0 5 . Cl
oy 5924
Qfr "? mdak
o8 wo
s o
B 0.94" ClE 6%
§ 3 Bui @<
@ COMPOSITE ASTRAGAL 218 3¢
o
23| Jp
25 E=
n % 5
8A5 =8
Sz =
0 @ =
" Y218 S
| 2.44 ! i Q % l‘}," o0
| | 3 L O O
I S 5 x| &
. J 2 ©
] =
) e o
f % g g
l l____1, N
H m
- 4.6 |
15 OUTSWING THRESHOLD
Columbia
]
zZ
o
2
o
CONCRETE ANCHOR NOTES:
. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to mortar joints.
. Concrete anchor locations noted as "MAX. ON CENTER" musf be adjusted o
maintain the min. edge distance to mortar joints, additional concrete anchors Let
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. LE
. Concrete anchor table: o
pd

DATE: 4/26/22

wood screws o prevent the splitting of wood.

TAPCON® 1-1/4" SCALE: N.T‘:\JS.
DeWALT . . - DWG. BY: w
uiiRACONY | /4 11/ 1 4 TS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL—-41477.4

SHEET 10 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.





